AP Calculus BC Name Pd.
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1-4: Set up the integral that represents the length of The curve. Then use your calculator ’ro

find the length correct to four decimal places.

L pesing USedn 2, y=xg", 02x<2

£60)= o5k e e i = € 0K
So VTt de-gan | |52 Wigeamot® de

So Jlt (1) dx }Z !024

o

Al

%’%.f/@j((u(eos (OA2)A(52), X, 0, )
3.

1

x=+y—y, 1Sy<4 4, x=3y"-2y, 0<y<2
|

X mm{'m Kl 2y-2

e

N g dy ~ “|3, 0035 | 52 JHOB—’DZM‘A‘/:E?g;ﬂ

e e —p———————

5-8: Set up the integral that represents the length of the curve. Then use your calculator to
find the Ieng’rh correct to four decimal places.
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